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K i 14.6 17.4 17.4 14.7 18.3 1.5 13.7 16.7
& i) HE > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.9 6.5 6.1 6.1 6.2 6.1 6.7 6.4
(mS/m) 4.1 15.3 9.7 5.4 1.3 35.8 23.9 6.9
7 Fooos vooA (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ v 7 v (mg/ L) N.D. N.D. N.D. N.D. N.D. N D. N.D. N.D.
g (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Aol 7 = EN (mg/ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 <0.02 <0.02 <0.02
e # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
tie ES S (mg/ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
ToOor % A ok (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
YU L 7= = (mg/ L) N.D. N.D. N.D. N.D. N.D. N D. N.D. N.D.
Y 7 mowm A ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LI (- (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
REEE nvoE ) v =  (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
e L2 — Yz mBr =%y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
LI-Y7uamu=FLy MmL) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2-—vsmer=F Ly ML) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl—FY2zou=gy g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— kY s mExH Y (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
m| PV 2 um F v v (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Fhr7/7mB=F LY ML) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3—YsnBm7utry L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
¥ v 7 A (mg/ L) < 0.0006 < 0.0006 <0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA N s T (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
il ~ v ¥ v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
(mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
(mg/ L) 4.4 7.0 3.3 0.65 3.5 0.50 13 0.27
BN - # (mg/ L) 0.13 < 0.08 < 0.08 < 0.08 0.09 0.10 <0.08 < 0.08
£ Es (mg/ L) <0.03 <0.03 < 0.03 <0.03 <0.03 <0.03 <0.03 < 0.03
1,4 DA B (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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2 i3 ki A Epk24tE 11 A 12H 24411 A 12H Tpk244E 11 A 13 R 24411 A 13H TFRk244E 11 A 13R 24411 A 26 H TRk244E 11 A 2TH k24411 A 26 H
K i 13.9 14.1 17.7 17.0 17.0 9.4 14.2 14.0
& i) HE > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.3 6.6 6.4 6.1 6.0 6.8 7.2 6.3
(mS_/m) 24.6 22.6 31.9 37.9 31.9 6.7 1.2 12.3
7 Fooos vooA (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ v 7 v (mg/ L) N.D. N.D. N.D. N.D. N.D. N D. N.D. N.D.
i (mg/ L) < 0.005 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Aol 7 = EN (mg/ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 <0.02 <0.02 <0.02
e # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
tie ES S (mg/ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
ToOor % A ok (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU L 7 = =1 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y 7 mowm A ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LI (- (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
REEE nvoE ) v =  (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
e L2 — Yz mBr =%y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
Li—-Y2smu=FLr (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2—vsmue=FLr (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl—FY2zou=gy g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— kY s mExH Y (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
| PV 2z EE F v v (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhF72s7mE=F Ly (L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3—YsnBm7utry L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
¥ v 7 A (mg/ L) < 0.0006 < 0.0006 <0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
A R T T (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
il ~ v € v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
(mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
(mg/ L) 1.4 2.4 1 9.1 5.7 0.69 L1 5.2
BN - # (mg/ L) < 0.08 <0.08 0.12 < 0.08 <0.08 0.12 0.10 < 0.08
£ Es (mg/ L) <0.03 <0.03 0.01 0.03 <0.03 <0.03 <0.03 < 0.03
1,4 DA B (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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K i 6.5 11.0 13.1 17.0 17.0 17.0 16.0 15.5
& i) HE > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.9 7.0 6.8 6.8 7.2 7.1 7.1 6.7
(mS_/m) 10.9 4.8 9.2 37.0 32.9 17.2 22.5 1.5
7 Fooos vooA (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ v 7 v (mg/ L) N.D. N.D. N.D. N.D. N.D. N D. N.D. N.D.
i (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Aol 7 = EN (mg/ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 <0.02 <0.02 <0.02
e # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
tie ES S (mg/ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
ToOor % A ok (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU L 7 = =1 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y 7 mowm A ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LI (- (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
REEE nvoE ) v =  (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
e L2 — Yz mBr =%y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
Li—-Y2smu=FLr (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2—vsmue=FLr (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl—FY2zou=gy g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— kY s mExH Y (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
| PV 2z EE F v v (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhF72s7mE=F Ly (L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3—YsnBm7utry L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
¥ v 7 A (mg/ L) < 0.0006 < 0.0006 <0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
A R T T (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
il ~ v € v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
(mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
(mg/ L) 1.1 1.0 1.7 0.03 0.72 0.99 6.8 0.08
BN - # (mg/ L) < 0.08 0.23 < 0.08 0.21 0.57 0.15 0.29 0.16
£ Es (mg/ L) <0.03 <0.03 < 0.03 0.04 0.05 <0.03 <0.03 < 0.03
1,4 DA B (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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2 i3 ki A Fpk244E 11 A 13 H 24411 19R TRk244E 11 A 19R 24411 19R Tpk254E1ATA 24411 A 19R TRk244E 11 A 19R
K i 15.0 17.6 16.3 16.9 16.6 20.4 19.3
& i) HE > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 7.6 7.0 7.0 7.0 7.9 6.7 6.7
(mS_/m) 14.3 20.0 23.0 29.0 57.0 15.0 25.0
7 Fooos vooA (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ v 7 v (mg/ L) N.D. N.D. N.D. N.D. N.D. N D. N.D.
i (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
Aol 7 = EN (mg/ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 <0.02 <0.02
e # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
tie ES S (mg/ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
ToOor % A ok (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KU L 7 = =1 (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Y 7 mowm A ¥ v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LI (- (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
REEE nvoE ) v =  (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
e L2 — Yz mBr =%y (g/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
Li—-Y2smu=FLr (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2—vsmue=FLr (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl—FY2zou=gy g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2— kY s mExH Y (mg/L) <0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
| PV 2z EE F v v (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhF72s7mE=F Ly (L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3—YsnBm7utry L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
¥ v 7 A (mg/ L) <0.0006 < 0.0006 <0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F oA N s T (mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002
il ~ v € v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
(mg/ L) < 0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002
(mg/ L) 1.4 1.5 0.61 0.05 <0.03 0.06 5.4
BN - # (mg/ L) 0.21 0.17 0.40 0.12 13 0.16 0.19
£ Es (mg/ L) <0.03 <0.03 0.12 <0.03 0.4 <0.03 0.08
1,4 DA B (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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K i 14.6 6.5
% # li's > 30 > 30
p H 6.9 6.9
IR iy (mS/m) 44.1 10.9
y m o om Kk A A (mg,/ L) < 0.006 < 0.006
Z|L2—- Y7 rw S ey (L) < 0.006 < 0.006
p s mm Ny ¥y (L) <0.02 < 0.02
4 YV X ¥ F A+ v (mg,/ L) < 0.0008 < 0.0008
g4 T Y v (mg,/ L) < 0.0005 < 0.0005
| 7 = = ~ v F F v (mg,/ L) < 0.0003 < 0.0003
4 v 7w F AT (mg,/ L) < 0.004 < 0.004
EE S S (mg,/ L) < 0.004 < 0.004
y w owm % m o= n (mg/ L) < 0.004 < 0.004
i) 7 o om v ¥ K (mg,/ L) < 0.0008 < 0.0008
E P N (mg,/ L) < 0.0006 < 0.0006
D =T A - (mg/ L) < 0.001 < 0.001
7 = ) T AN T (mg,/ L) < 0.002 < 0.002
H 4 7 m R v K A (mg,/ L) <0.0008 < 0.0008
7 vy = kB 7 o=V (mg,/ L) < 0.0001 <0.0001
) v ES v (mg,/ L) < 0.06 < 0.06
¥ v v v (mg,/ L) < 0.04 < 0.04
AlzsrmoyoFr~xr g/ /L) < 0.006 < 0.006
= v r n (mg,/ L) < 0.005 < 0.005
53 ) 7 7 v (mg,/ L) <0.01 < 0.01
7y F ® v (mg,/ L) < 0.0005 < 0.0005
T v/ BmuwtE KU v (mg,/ L) <0.0001 < 0.0001
E I A A (mg,/ L) < 0.02 <0.02
v 7 v (mg,/ L) 0. 0002 < 0.0002
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Ay v a2 & & F-15 D-19 P-18 N-17 M-18 L—19 L—17 L—17 L-22 119 K-19 1-20
El &= H B [ LU [ L1 % i Lt i 1Lt i 1Lt i 1Lt Bt At Bt Bt
# #H X 5 AR LA ke LA T ke B A kA LA A kA LA A A LR A A LR A A LR A kR LR A A LR A

Eoa P o W B [ IR IR IR W W i W i

» (G I ] LSRN AT ESEYEEN SN TEHAK AETE K AETE K AETE K AETE K AETE K

il HF 0BRSS sm A 4 6m 1m R 3m R 16m R
23 L &3 A A TRR2AE6A 2L | ERR2AEILA12A | TR2AE6A 190 | FR2AFEIIASH | FR2AEI2A4A | FR2AFEI12ZAAR | FHR2FEIIA9N | FR2aFEIIA290 | FR2AFIIA9H | FR2aEIIA290 | THl2s®2A21A | FR2F2A2IA | THlesE2A210 | Fl2sF2A21 0
ES il 17.4 17.1 19.3 17.5 18.0 16.0 18.0 17.0 15.0 15.5 12.3 15.0 17.4 10.3
b ) HE > 30 > 30 > 30 > 30 - - - - - - > 30 > 30 > 30 > 30

p H 6.3 6.5 6.4 6.8 - - - - - - 6.6 6.8 8.3 7.8
ERAEHEE  (mS/m) 28.5 29.7 18.8 22.8 - - - - - - 23.0 29.0 97.0 53.0
b P2 v A (mg/L) - - - - - - - - - - - - - -
ES v 7 v (mg/ L) - - - - - - - - - - - - - -
4 (mg/ L) - - - - - < 0.005 - - - - - - - -

A M 7 v A (e/L) - - - - - - - - - - - - - -
) # (mg/'L) - - - - < 0.005 < 0.005 0.033 - - - - - < 0.005 -

) * ® (g/L) - - - - - - - - - - - - - -

7o % v ok 8 (g/L) - - - - - - - - - - - - - -
KU HLe 7= =1 g L) - - - - - - - - - - - - - -
Y s omom 2% v (/L) < 0.002 < 0.002 - - - - - - - - < 0.002 < 0.002 - < 0.002
W b R # (g/L) < 0.0002 < 0.0002 - - - - - - - - < 0.0002 < 0.0002 - < 0.0002
ffte=nrx/s~— (g L) <0.0002 < 0.0002 < 0.0002 < 0.0002 - - - - - - - - - -

" L2— Y7 uaa=xgy (/L) < 0.0004 < 0.0004 - - - - - - - - < 0.0004 < 0.0004 - < 0.0004
Li-Ysme=zF Ly (/L) <0.002 < 0.002 - - - - - - - - < 0.002 < 0.002 - < 0.002
L2-YsBoa=F Ly mg/L) < 0.004 0.020 0.005 0.005 - - - - - - < 0.004 < 0.004 - 0.017
LiLl—hYZsmuxsr (g/L) < 0.0005 < 0.0005 - - - - - - - - < 0.0005 < 0.0005 - < 0.0005
LL2—bYzuau=gr (g /L) < 0.0006 < 0.0006 - - - - - - - - < 0.0006 < 0.0006 - < 0.0006

gl bV zER=F LY /L) 0.002 0.006 0.038 0.034 - - - - - - < 0.002 < 0.002 - 0.004
FrysBmBoxF Ly eg/L) < 0.0005 < 0.0005 - - - - - - - - 0.095 0.0050 - < 0.0005
L3—Ysmr7asy (g/L) <0.0002 < 0.0002 - - - - - - - - < 0.0002 - - -

F v 7 5 (gSL) - - - - - - - - - - - - - -
v ~ v v (mg/ L) - - - - - - - - - - - - - -
F oA R voh oA T (/L) - - - - - - - - - - - - - -

[El ~ v ¥ v (/L) <0.001 <0.001 - - - - - - - - <0.001 <0.001 - < 0.001

* v v (mg/ L) - - - - - - - - - - - - - -
RERPE R R R O R R R % (ng /L) - - - - - - - 10 - 11 - - - -
5 - # (mg/ L) - - - - - - - - 0.91 1.2 - - L9 -

[£3 9 ES (mg/ L) - - - - - - - - - - - - - =

L4 — ¥ 4 % ¥ » (/L) - - - - - - - - - - - - - -
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